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eorem 1.2.F [Duality Theorem in Linear Programming| Consider a linear programming
progran
min {cf'"r Ar > E:} (LP)
along with its dual
mﬁ{ﬁ""y‘ﬂiﬁy=cey2 D} (LP*)

Then
1) The duality is symmetric: the problem dual to dual is equivalent to the primal;
2) The value of the dual objective at every dual feasible solution iz < the value of the primal

objective at every primal feasible solution \
3) The follounng 5 properties are equivalent to each other:
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(i) The primal & feasible and bounded below. ( ‘-/ . )
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(ii) The dunl is feasible and bounded above. @ a% Y’

(iii) The primal i
(iv) The dual i
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Whenever (i) = (ii) = (iii) = (iv) = (v) is the case, the optimal values of the primal and the dua1

roblems are equal to each other. :._Swm q !“&S ]‘— Ny - (?)
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(v) Both primal and dual are feasible.




